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TODAY’S QUOTE

"OUR GREATEST WEAKNESS LIES IN
GIVING UP, THE MOST CERTAIN WAY
T0 SUCCEED IS ALWAYS TO TRY JUST
ONE MORE TIME."




HOMEWORK
There were less

cans on the
Find the Error ?

shelves than there

were yesterday.

Ans. Fewer
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Subject Verb Agreement
Articles

Nouns

Pronouns
Adjective
Verb
Adverbs

Conjunctions

Tenses



ERROR BASED ON

BASIC CONCEPTS
OF GRAMMAR




Lack of Subject-Verb /-\
Agreement :

*These recipes is good
for beginning chefs."




SUBJECT VERB
AGREEMENT
PART 1

RULE 1

Words joined to a singular

subject by with, together with, in
addition to or as well as, etc. are
parenthetical, and therefore do

not atfect the number of the Verb.



FIND ERROR BASED

ON CONCEPTS

s L

The Head of the Department, (1)/along

with his colleagues are coming (2)/to

attend the conference which is
(3)/scheduled this afternoon. (4)/ No

error (5).

ANSWER : 2
SOLUTION : Replace ‘Are’ with

GISS




FIND ERROR BASED

ON CONCEPTS
o :?- —— e I
3,/ \5 1. We padded the seat of the chair
LTI\

with camel hairs to make it soft.

ANSWER : Replace ‘HAIRS’ with ‘HAIR’
EXPLANATION : ‘HAIR’ is an uncountable noun. So it

generally considered singular.




CAN WE USE HAIRS ?

My tea has 3 gray hairs in it.
His white hairs are clearly
seen.

I just washed my hair.
Your hair is looking

beautiful.

My mother’s hair is turning

white.



Find the error:

Every girl must bring their own

lunch.

Solution : Replace ‘their’ with

‘her’




Every boy and girl were ready.

If the Singular Subjects are

preceded by each or every, the —
Solution : Replace ‘Was’ with

‘Were’

Verb is usually Singular.




Everybody Somebody Nobody Anybody

Everyone Someone Noone  Anyone

Everything Something Nothing Anything




Neither the size nor the colour (1)/of
the clothes which (2)/ I purchased
for him (3)/yesterday were right (4)/
No error (5).

Solution : ‘Were’ will be replaced by
‘Was’




Neither he nor I were
Two or more

Singular Subjects there.
connected by or, nor,
or,

neither.... nor take a

Verb in the Singular.




Neither the Assistant Mastel’

nor the Headmaster was present.

Solution : Replace ‘Were’ with ‘Was’




When the Subjects 1.

joined by or/nor are of

My aunt or my uncle is

arriving by train today.
ditfferent numbers, the 7.

Verb must be Plural,
and the Plural Subject
must be placed next to

the Verb.

\

Neither Juan nor Carmen is

available.

I




Ten dollars are a great deal of mom’

to a child.

Solution : Replace ‘Are’ with “is”




Expressions Ten kilometres is too far to walk.
of time, Six weeks is not long enough.

money and

distance




Half of what he writes are

undocumented.

Solution : ‘Are’ will be

replaced by °‘Is’




With fractions,
percentages and

indefinite quantifiers

(all, few, many, much

, Some)

One-third of this article is taken
up with statistical analysis.
Fifty percent of the

job is routine.



QUIZ TIME

01 BANK PO EXAM 2020\

The economic (1)/ for (2)/

-
A\

Y,
\

' /technological strengths do not 3)/
(4)/ here. All Correct (5)

Solution : Correct spelling is Repetition



QUIZ TIME

BANK PO EXAM 2020

An (1)/ concern that is likely to
(2)/ for (3)/ Indian agriculture

is the emission of gases like methane and
(4). All Correct (5)

Solution : No Error



QUIZ TIME

// Q3

_ Everyone admire Deepa (A) / because of her
/ability (B) / to generate (C) / such good ideas. (D)
/ No error (E)

Solution : Admires




QUIZ TIME

Q4

The fruits of peace are limited (A) / to the revival

/of economic activity,(B) / but the pervasive
grievances (C) /of the minority remains.(D) / No
Error (E)

Solution : Remain




QUIZ TIME

// Q5
The serial blasts on Easter ranks (A) / as the

’worst bloodbath (C) / Sri Lanka has seen since
(C) / the end of the civil war in 2009. (D) / No

error (E)

Solution : Rank




4 D
FIND ERROR

R/ /

Fifty percent of the
computers have CD-ROM drives.






